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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
ot feaiReed ot SepiR Teq firn :

(a) Is truth property of an argument?
Aorel T B9 T ?

(b) 'The conclusion of an Inductive argument/
Deductive argument is always probable.

( Choose the correct answer )

<1 S I / P fe P
R STSRANET |

(wm Teqeo ik Bferear )
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(c)

(d)

(e)

(f)

22A/435

(2)

An argument has two premises/one
premise/no fixed number of premises.

( Choose the correct answer )

«B1 IER I TR I [/ OB WM™ I/ /
YR I @I [FE T)aw [i% )

(o= TeH! AR Shrear )

Syllogism is an immediate deductive
inference/mediate deductive inference.
( Choose the correct answer )

T @B ST FeorE SN/ D feee

ST |
( om Teh IR Sfeveqr )

Which term in a syllogism is present in both
the premises, but absent in the conclusion?

TRE WD % A IR IS Teifire
AT, e Frams weiEs a2

An A proposition can be converted simply.
( Write True or False )

BT A I5 IIETOA TS T M1 |
(31 & iy B )

( Continued )

(g

(h)

(i)

G)

Answer the following :

e fwarcaee Seg

(a)

22A/43S

(3)

State the position of the middle term in the
Third figure of a syllogism.

TR PO FKETS (XM FICH! BrEd 41 |

Write the Greek symbol used to mean a
‘Null set’.

ﬁ‘ﬁ:wﬁ’wﬂww%m
|

Symbolise the given proposition by means of
set notation :

FaftRe o IS Tw AEe 98w
<4l

All Philosophers are wise

! wrE 27 A

Two sets having the same member> are
called ___ .
( Fill in the blank )

TP B 4P [ ARSF ____ I (PRI |
( 19 31 @I =N )

Define Conversion by Negation.

Rcaepers TR STkt o |

( Turn Over )

2x5=10



(4) . (S)

(b} Give example : Venn Diagram. (c) What do you mean by oppositions of
propositions?
e ol < o o | 7o Rl et R o2
(c) What is the fallacy of four terms? (d) What is simplification of propositions?
ngﬁt ol A 9 Simplify the following sentences into logical
form: 2+3=5
(d) What is Infinite set? TR SRR WA 7 PP IR
AN RS MWA B2 oFiT SRR TRAFIT 411
. (i) All that glitters is not gold.
{e) Write two differences between mediate and
immediate inference. IPCET SR I8 T T |
T SR AR SR W K51 el B | (ii) Any student can do this. |
R i gaR 9% FRT R |
3. Answer any four of the following : 5x4=20 : (iii) Virtuous alone are happy.
wore fim R e wikbR T fora -
GFG ALCARIE TN |
(a) State any two differences between S h i
Deductive and Inductive arguments. (e} State the special rules of the Fourth figure.
59¥ R ReR frmer S w01
ReorAeT o we SEmee 3R TR R : |
I o1 #1123 ST Rall ()  What are subset and superset?
. TP wF SRS Wi R0
(b) Whatis a figure of a syllogism? Demonstrate : :
the ﬁg}pres of a syllogism with proper 4. What is an argument? Explain the relation
symbolic form. | 1+4=5 between argument and argument form. 2+8=10
TRA G TR R WARE oS @Tgﬁ?ﬁ%w’ﬁwwwm
[RNFA0 |

PRI TRIAS TR AHACIRD! A 347 |
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S.
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(6)

Or/ 933y
Write an explanatory note about the relation
between truth and validity. 10

wwhmmwmmw
G foran 1

What is square of opposition? Explain it with

diagrams. : 2+8=10

R Reier 3fwa w1 @ 2 e amm 1
Or/ SRl

Define proposition. Write briefly about the
four-fold scheme of proposition. 10

J @ | R v Rewm www e
fa

Explain the Venn diagrammatic technique to test
the validity of syllogistic arguments with suitable
examples. 10

TR RS (Sa s e ¥R @
T I twt e FRT <N, I ]

Or/ g1

Prove the | validity of the following syllogistic
arguments with the help of Venn diagram: ~ 5+5=1¢

TS frat AT P el evbaR A o
ql:

(a) Some philosophers are mathematicians
All scientists are mathematicians

.. Some scientists are philosophers

( Continued )

(7))

g e = sffew
ween Rt = aifdtow
Rrgm et = e

(b) All humans are mammals
No humans are cats

. No cats are mammals

R TR W SR §
R TR T R

7. What is a set? What is set membership?
Symbolise AEIO propositions by means of set
notations.

A2 WA 2 R A IT Qe ? TS o)
TS AEIO I51F 8T IR A3 31 |

Or / 9331

What is operation of sets? Explain different kinds
of operation of sets with examples.

AR afdFn e B g SR e (ke
PR ARSI 2 I M 1 :

LA & 1
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